
1. He is a good student. He always ________ his hand. 
 
A. rises 
 
B. raises 
 
C. arises 
 
D. risen 
2. Would you mind ________ the window? 
 
A. open 
 
B. to open 
 
C. opening 
 
D. not to open 
3. I wouldn't believe what she says. She sounds very convincing but she's just a fast 
________. 
 
A. talker 
 
B. eyes 
 
C. one 
 
D. ride 
 
4. Tomorrow he will come ________ home late. 
 
A. x 
 
B. to 
 
C. at 
 
D. to the 
5. When the boy ________ the car he was badly injured. 
 
A. is hit by 
 
B. was hit by 
 
C. hit 
 
D. was hitting 
6. Something extremely strange ________ yesterday while we were out jogging. 



 
A. was happened 
 
B. happened 
 
C. has been happening 
 
D. has happened 
7. The weather was ________ that we didn't go out. 
 
A. very bad 
 
B. such bad 
 
C. so bad 
 
D. too bad 
8. It took years of research, but ________ they found the answer. 
 
A. at the end 
 
B. in the end 
 
C. last 
 
D. lastly 
9. I ________ swim in this river when I was young. 
 
A. used to 
 
B. am use to 
 
C. use to 
 
D. am used to 
10. Several prisoners ________ from their guards and escaped. 
 
A. broke away 
 
B. broke out 
 
C. broke through 
 
D. broke up 
11. I was moved to tears ________ sorrow. 
 
A. to 
 



B. of 
 
C. with 
 
D. by 
12. Please ________ photocopies of documents. 
 
A. not to submit 
 
B. do not submit 
 
C. no submit 
 
D. not submit 
13. Some authors are too ________ to critisism. 
 
A. sensible 
 
B. sensitive 
 
C. sensational 
 
D. senseless 
14. We heard her ________ to her little brother. 
 
A. to talk 
 
B. talk 
 
C. talks 
 
D. talked 
15. Before the invention of refrigeration, the ________ of fish and meat was a problem. 
 
A. keeping 
 
B. preservation 
 
C. treatment 
 
D. maintenance 
16. Don't let him ________ it. 
 
A. doing 
 
B. to do 
 
C. do 



 
D. does 
17. In ________ cases it is clear who it is that is responsible for a marriage break-up. 
 
A. few 
 
B. a few 
 
C. little 
 
D. a little 
18. This is the woman ________ the artist said posed as a model for the painting. 
 
A. who 
 
B. whom 
 
C. whose 
 
D. which 
19. If the prisoners attempt to escape from prison ________. 
 
A. he will catch 
 
B. they will catch 
 
C. they will be caught 
 
D. the prisoners will have caught 
20. There was ________ I could say. 
 
A. any 
 
B. nothing 
 
C. everything 
 
D. anything 
Đọc đoạn văn và chọn câu trả lời đúng 
Man’s rise to a position as the dominant creature on this earth has been closely involved 
with his mammalian cousins. Even in highly industrialized nations, mammals provide food, 
drink, clothing, transportation, and power. It’s interesting, however, that man’s 
interdependency is limited to a few dozen domesticated species. The other mammals are 
either in the category of “enemies” or of little interest at all. 
 
Man has waged a war against his mammalian enemies with little result. Despite trapping, 
shooting, poisoning, gassing, and a dozen other ploys, most of our enemies are still with us. 
The victims of man’s dominance have been rather the ones in which we have little interest. 



In fact, the majority of the animals that have become extinct during man’s march to global 
dominance have been just these uninteresting creatures. 
 
For all of man’s success, he is still a newcomer. It is only in the past century that we have 
been able to cross water better than a porpoise or to dive as deeply as whale. It is only 
recently that we have been able to travel on land faster than a cheetah or fly faster than a 
bird. With this new power, man has a responsibility to his cousins, because he is 
interdependent, even with the mammals for which he cares little. 
 
1. What is the main idea of this passage? 
 
a)The evolution of man 
 
 
b)The interdependence of man and mammals. 
 
 
c)The extinction of mammals 
 
 
d)The success of man 
 
2. According to this passage, man has been dependent on mammals for 
 
a) food and drink 
 
 
b) technology 
 
 
c) evolution 
 
 
d) his succes 
 
3. According to the passage, which of the following statements is NOT TRUE? 
 
a) Man is the dominant creature on earth. 
 
 
b) Many mammals have become extinct. 
 
 
c) Man has little need for most mammals. 
 
 
d) Man is interdependent with other mammals. 
 



4. According to the passage, what must man do now? 
 
a) Develop more synthetic goods. 
 
 
b) Assume more responsibility for our interdependence with mammals. 
 
 
c) Put all the mammals in the zoo where they will be protected. 
 
 
d) Intensify our efforts to control our traditional enemies 
 
5. According to the passage, what has man accomplished in his rise to dominance? 
 
a) Developed human speech 
 
 
b) Domesticated some animals 
 
 
c) Extinguished many mammalian enemie 
 
 
d) Put a man on the moon 
 
Choose the correct answer to complete the sentence. 
1. I finished watching the series you recommended. Now I ____________ another one. 
 
'm watching 
 
 
watch 
 
 
watched 
 
2. What ___________ tonight? Would you like to come and watch the game? 
 
are you doing 
 
 
did you do 
 
 
do you do 
 
3. They say that Los Angeles is one of the most expensive cities _________ the world. 



 
at 
 
 
on 
 
 
in 
 
4. We are going to fly from _______ USA to _______ Cairo. 
 
the - the 
 
 
the - ∅ 
 
 
∅ - ∅ 
 
5. I ________ work in a bank, but now I'm working as a designer. 
 
used to 
 
 
was used to 
 
 
got used to 
 
6. I'm not used to _______ dinner at 6. In my country we eat later. 
 
have 
 
 
to have 
 
 
having 
 
7. A: He's ________ fan of Manchester United. B: I don't understand how he can like 
_______ football so much. 
 
a / the 
 
 
a - ∅ 
 
 



∅ -  ∅ 
 
8. If Suzan said that, it ______ true. She never lies. 
 
might be 
 
 
must be 
 
 
can be 
 
9. I'm not spending _________ money as I thought. 
 
as much 
 
 
as many 
 
 
more 
 
10. Sorry, but I'm not Connor. You ______ me for someone else. 
 
might be confusing 
 
 
must confuse 
 
 
must be confusing 
 


